Thursday 14" January Maths Task

Dividing by 100

Today we will be moving on from yesterday and will be dividing by 100.
Recap questions:

1. 500 + 10 = 2. 430+ 10= 3.7250 + 10 =
4. 6520 + 10 = 5. 3200 + 10 = 6.9800 + 10 =

Task 1: Compare each of these statements using <,>, =

1700 = 10 3400 < 100
700 + 100 7100 = 100
90 = 10 900 = 100

Task 2: Put these calculations in order from the greatest answer to the smallest
answer.

5400 + 100
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greatest smallest

Task 3: Use the digit cards to fill in the gaps. Then practice on times table
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170+10=__

_20x10=23_00






